Now it's your turn. Use the notes and examples that you just read to guiéde you,

' Do all proof on a separate sheet of paper.

1. Write a flow proof.

Given: B is the midpoint AC
BE L AE; BD 1L DC
2L = Bo
Prove: /A= ~C

2. Use the diagram at the right and the given information to prove each of the following.

C

Given: DE 1 AC: BF
‘ = B

iF = TD- D

i

C;
CD: DE
a. Prove: L1 = /2
b. Prove: AD = CB

" ¢. Prove: AE = CF

3. Given: DB bisects ZADC; £3 = /4

Prove: £5 = /6

4, Given: LF = KF; LA=KA

Prove: L] = K]
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. Mixed review of isosceles triangles.

o 1. InAJKL, JK = KL, mzJ =2x~-y, mzK = 2x + 2y and mzL = x + 2y. Find the Q%
¢ zx@\'/?/lue of eZa;h intfr?k:; e;?gles of the triangle. x =3y
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N 2. AJEN is isosceles with vertex #N. If J(2,5), E(-2 1) and N(4,y), find y.
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4. Write a flow proof A
Given: AADC isosceles with vertex <A
BC = ED
Prove: AABE isosceles ‘ B C D E

.
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